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QUESTION 1

Select two ways in which Scrum uses time-boxing to promote self-organization? (Choose two.) 

A. Time-boxes ensures that the Development Team commits to completing the items in the Sprint Backlog by the end of
the Sprint. 

B. Time-boxes encourage the ones closest to the problem make the best possible decisions within the time-frame given
the current situation. 

C. Time-boxes can help teams plan how many additional Sprints is needed for User Acceptance testing. 

D. Time-boxes helps everybody concentrate on the same problem at the same time. 

Correct Answer: BD 

Time-boxes help everyone focus on the work of the Sprint and personally commit to achieving the goals of the Scrum
Team. 

 

QUESTION 2

A Development Team has a total of six members, 4 members who work full time in the office and 2 members who work
part time at home. The Development Team is complaining that it is too difficult to synchronize every day and has
suggested having the Daily Scrum every other day instead. 

What would be three key concerns if the Daily Scrum is held less frequently? (Choose three.) 

A. Impediments are raised and resolved more slowly. 

B. Opportunities to inspect and adapt the Sprint Backlog are reduced. 

C. Less information about the progress will be shared causing the Sprint plan to become inaccurate and reducing
transparency over progress toward the Sprint Goal. 

D. The Scrum Master loses the ability to update the burndown chart adequately. 

E. The Product Owner cannot accurately inspect utilization of the individual team members. 

Correct Answer: ABC 

The Daily Scrum is an internal meeting for the Development Team to inspect progress toward the Sprint Goal and to
inspect how progress is trending toward completing the work in the Sprint Backlog. The Daily Scrum optimizes the
probability that the Development Team will meet the Sprint Goal. Every day, the Development Team should understand
how it intends to work together as a self-organizing team to accomplish the Sprint Goal and create the anticipated
Increment by the end of the Sprint. 

Reducing the frequency of the event will increase the length of the feedback loop and adds risk if the team deviates too
far off course. 

 

QUESTION 3
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An organization has just hired you as a new Scrum Master to help them transition their teams from their current
traditional process to Scrum. The teams are currently structured to specialize in a single function. This is also known as
component teams where a team would only address a single layer (i.e. design, frontend, backend, database, testing,
etc.). You\\'ve introduced the concept of cross-functional teams where all the skills needed to produce business
functionality, from end to end, are inside of a single team. 

What should you keep in mind when transitioning from siloed teams to cross-functional teams? (Choose two.) 

A. It is easier to compare the performance between cross-functional teams in order to identify to which teams to assign
tasks and which teams need additional coaching. 

B. Newly formed teams will need time to stabilize before reaching their peak performance. During the initial stages of
forming, performance will suffer and productivity may be low, although even then delivery of business value is still likely
to increase. 

C. Without feature teams, you cannot do Scrum. Postpone Scrum adoption until the teams are reorganized in feature
teams. 

D. People from the different layers and components will need time to become accustomed to working and delivering
unified functionality together as one Scrum Team thus productivity may suffer. 

Correct Answer: BD 

Forming a team takes time, and members often go through recognizable stages as they change from being a collection
of strangers to a united group with common goals. Bruce Tuckman\\'s Forming, Storming, Norming, and Performing
model describes these stages. When you understand it, you can help your new team become effective more quickly. 

 

QUESTION 4

Which Scrum Value is impacted by trust? 

A. Respect 

B. Courage 

C. Commitment 

D. Openness 

E. Focus 

F. All of the above 

Correct Answer: F 

Without trust, team members will have difficulties acting and behaving in the ways that reflect the Scrum values and how
effective they apply empiricism. 

 

QUESTION 5

An organization wants to apply Scrum to build a new product and has hired Steven to be the Scrum Master of three new
teams that will build the first release. The organization is new to Scrum and asks Steven for advice on how to start. 
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Which two things should Steven first advise? (Choose two.) 

A. Each Scrum Team has its own Product Backlog with items only their team will be working on. 

B. One Product Backlog to represent all of the known work needed to be done for the product. 

C. Three Product Owners, one for each Scrum Team. 

D. Having one Product Owner to be accountable for maximizing the flow of value throughout the development process
and provide transparency on the overall progress. 

Correct Answer: BD 

The Scrum Master serves the organization in several ways, including: Leading and coaching the organization in its
Scrum adoption; Planning Scrum implementations within the organization; Helping employees and stakeholders
understand and enact Scrum and empirical product development. 
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